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,uz;lhk; jtizg;guPl;ir – 2018 
Kaw;rpahz;ikf; fy;tp 

juk; 11 
  Gs;sp toq;Fk; jpl;lk; 

gFjp 1 
 

        (1×40= 40 Gs;spfs;)  
gFjp 11 

tpdh ,y 01  

i. tha;;g;Gf;fs; 
1. #oYf;F ,irthd cw;gj;jpfs; mjpfupj;jy; 
2. ,aw;ifahd> MNuhf;fpakhd czTfspy; kf;fspd; ehl;lk; mjpfupj;jy; 
3. Rw;Wyhf; ifj;njhopy; tpuptile;J nry;yy; 
4. Nritf; ifj;njhopypd; gq;fspg;G mjpfupj;Jr; nry;yy; 
5. cilayq;fhuk;> cly; myq;fhuk;> xg;gid Nghd;w JiwfSf;fhd Nfs;tp 

mjpfupj;jy;  
6. epu;khzf; ifj;njhopYf;fhd Nfs;tp mjpfupj;jy;     (2×1/2 = 01 Gs;sp) 
mr;RWj;jy;fs;  
1. tho;f;ifr; nrytpy; Vw;gl;Ls;s mjpfupg;G 
2. r%fj;jpy; fhzg;gLk; kdg;ghq;F khw;wq;fs; 
3. nghUshjhuj;jpy; gztPf;fk; fhzg;gly;       (2×1/2=01Gs;sp) 

ii. 1. gRikg; nghUl;fis cw;gj;jp nra;jy; 
2. ,aw;if> MNuhf;fpakhd czTfis jahupf;Fk; N`hl;ly; tzpfk; Muk;gpj;jy; 
3. etehfupf Milfis tbtikj;J ijf;Fk; tzpfk; 
4. Mz;> ngz;fSf;fhd Kf myq;fup;g;G epiyaq;fis Muk;gpj;jy; 
5. epu;khz xg;ge;jq;fisg; ngw;W fl;blq;fs;> tPLfs; mikj;Jf; nfhLj;jy; 
6. NtW nghUj;jkhd tpilfs;          (4×1/2 = 02 Gs;spfs;) 

iii. jdpAilik tzpfk; my;yJ $l;bizf;fg;gl;l fk;gdpfs;      (02 Gs;spfs;) 
iv. 1. Njitahd tsq;fisg; ngwf;$bajhftpUj;jy; 

2. Nfs;tp fhzg;gLjy; 
3. ftu;r;rpfukhd tUkhdk; fpilj;jy; 
4. Nghl;bj;jd;ik  
5. rl;ljpl;lq;fSf;F cl;gLjy;           (4×1/2 = 02 Gs;spfs;) 

v. 1. Mf;fj;jpwd;      2. Gj;JUthf;fk; 
3. el;l,lu;fisg; nghWg;Ngw;Wf; nfhs;sy;  4. vjpu;fhy J}uNehf;F 
5. Neu;rpe;jid 
6. nefpOk; jd;ik  
7. Rje;jpuj;jd;ik            (2×1 = 02 Gs;spfs;) 
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1. 3 11. 3 21. 2 31. 2 
2. 2 12. 3 22. 4 32. 4 
3. 2 13. 4 23. 2 33. 3 
4. 3 14. 1 24. 1 34. 1 
5. 2 15. 2 25. 4 35. 2 
6. 3 16. 2 26. 3 36. 1 
7. 2 17. 2 27. 3 37. 2 
8. 1 18. 2 28. 4 38. 3 
9. 4 19. 4 29. 2 39. 1 
10 2 20. 3 30. 2 40. 4 
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vi. nkhj;j epiyahd nrhj;Jf;fspd; ngWkjp 
fl;blk;    & 500000 
ijay; ,ae;jpuk;  & 300000 
fzpdp    &  75000 
  875000        (02 Gs;spfs;) 
 

vii. Muk;gpg;gjw;F Kd;duhd nkhj;j nryT 
tzpfj;jpl;lk; jahupj;jy; & 30000 
njhlf;ftpohtpw;fhd nryT & 20000 
re;ij msitaha;T  & 10000 
    & 60000        (02 Gs;spfs;) 

 
viii. njhopw;gL %yjdk; 

ehshe;j Copau; $yp  & 15000 
ehshe;j epu;thfr; nryTfs; &  3000 
ehshe;j Vida nryTfs; &  6000 

 &  24000        (02 Gs;spfs;) 
 

ix. fhR cl;gha;r;rypd; ngWkjp 
tq;fpf; fld;   & 100000 
tpw;gid tUkhdk;  & 250000 
    & 350000 
 

x. VjhtJ ,uz;L ntspg;gha;r;ry;fSf;F ,uz;L Gs;sp toq;fTk;     (02 Gs;spfs;) 
 

    (Q1=10×02=20 Gs;spfs;) 

tpdh ,y 02   

(1) Gj;JUthf;fk; ,lk;ngWfpd;w Kiwfs; 
 Gjpa fz;Lgpbg;G 
 ePbg;G 
 gpd;gw;Wjy; 
 $l;L              (4×1/2 = 02 Gs;spfs;) 

 
(2) tzpfq;fspd; gz;Gfs;  

 tsg;gupkhw;wk; nra;jy; 
 nfhLf;fy; thq;fy;fs; njhlu;r;rpahf ,lk;ngwy; 
 Nehf;fnkhd;W fhzg;gly; 
 el;l mr;rk; fhzg;gly; 
 tpiyfspd; mbg;gilapy; nfhLf;fy;> thq;fy; ,lk;ngwy; 
 nghUshjhu eltbf;ifnahd;whf mikjy;        (4×1/2 = 02 Gs;spfs;) 

  
(3) Kaw;rpahz;ikapd; %yk; Njrpa nghUshjhuj;jpw;F fpilf;fpdw ed;ikfs;  

 Njrpa tsq;fs; gad;gLj;jg;gly; 
 gpuNjr mgptpUj;jp Vw;gly; 
 Gjpa nghUl;fs; kw;Wk; Nritfis re;ijapy; mwpKfg;gLj;jy; 
 njhopy;tha;g;G 
 ntspehl;L nryhtzp ciog;G 
 nkhj;j cw;gj;jp mjpfupj;jy; 
 tUkhd rkkpd;ik FiwAk; 
 nghUshjhu mgptpUj;jpf;F gq;fspg;G 
 jd;dhjpf;fKs;s Rje;jpukhd nghUshjhu r%fk; cUthjy;      (2×1 = 02 Gs;spfs;) 
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(4) rpw;wsT tzpfj;jpd; gz;Gfs; 
 rpwpa njhif %yjdk; fhzg;gly; 
 Copau; njhif Fiwthf fhzg;gly; 
 tzpfk; jdpnahUtUf;F cupikahftpUj;jy; 
 Ntiy nra;tJ> jPu;khdk; vLj;jy; ,yF 
 rpwpa gpuNjrj;jpw;F kl;Lk; tiuaWf;fg;gl;bUj;jy;     (4×1/2 = 02 Gs;spfs;) 

 
(5) mz;kpa #oy; fhuzpfs; 

 thbf;ifahsu; 
 toq;Feu;fs; 
 Nghl;bahsu; 
 gjpyPl;Lg; nghUl;fis cw;gj;jp nra;J tpepNahfpg;Nghu; 
 vjpu;fhyj;jy; tzpfj;Jiwapy; gpuNtrpf;f vjpu;ghu;j;Jd;Nshu;     (4×1/2 = 02 Gs;spfs;) 

 

tpdh ,y 03 

(1) rpw;wsT tzpfq;fspd; gq;fspg;G 
 Ntiytha;g;G mjpfupj;jy; 
 Njrpa cw;gj;jp mjpfupj;jy; 
 jdpegu;fSf;fpilapy; tUkhdg;gq;fPl;L Vw;wj; jho;T Fiwtiljy; 
 ghupastpyhd tzpfq;fspd; %yk; toq;fg;glhj nghUl;fs; kw;Wk; Nritfis 

toq;Fjy; 
 fhy khw;wj;jpw;Nfw;g ghupasT tzfkhf khw;wkiljy; 
 cs;ehl;L mwpT kw;Wk; tsk; gad;gLj;jg;gly;       (4×1/2 = 02 Gs;spfs;) 

 
(2)  

a) gytPdk; 
b) gyk; 
c) mr;RWj;jy; 
d) tha;g;G              (4×1/2 = 02 Gs;spfs;) 
 

(3) cgha khu;f;fq;fs; 

 tpN\l Gjpa nghUs; my;yJ NritahftpUj;jy; 
 cw;gj;jp NtWghLfis cgNahfpj;J Kd;itj;jy; 
 re;ij ,ilntspfis ,dq;fz;L nghUl;fis Kd;itj;jy; 
 Gjpa cUthf;fk;           (4×1/2 = 02 Gs;spfs;) 

 
(4) tzpf vz;zq;fspd; %yq;fs; 

 nghOJNghf;F  
 jdpegu; Mw;wy; kw;Wk; mDgtk; 
 re;ij Muha;r;rp 
 Efu;Nthupd; gpujpgypg;G 
 Mf;fG+u;tkhd rpe;jid 
 njhlu;G rhjdk; 
 toq;Feu; 
 Nghl;bepiyikia Ma;T nra;jy; 
 fy;tpg; ghlnewpfs; 
 fz;fhl;rp> mDgtk;            (4×1/2 = 02 Gs;spfs;) 
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(5)             Njitfs;    tpUg;gq;fs; 
1. Muk;gj;jNyNa cUthFk;  ,uz;lhtjhf cUthFk; 
2. tiuaWf;fg;gl;lJ   tiuaWf;fg;glhjJ 
3. rfyUf;Fk; nghJthdJ  gy;NtWgl;lJ 
4. gpwg;gpNyNa cUthFk;  tzpfu;fshy; cUthf;f KbAk;  

      (2×1 = 02 Gs;spfs;) 
tpdh ,y 04   

(1) mbg;gilj; jpwd;fs; 
 njhopy;El;gj; jpwd;fs; 
 khdplj; jpwd;fs; 
 vz;zf;fU uPjpahd jpwd;fs; 
 FOf;fSld; nraw;gLk; jpwd;fs; 
 njhlu;ghly; jpwd;fs;  
 MNyhridj;jpwd;fs; 
 Kd;khjpupahfr; nray;gLk; jpwd;fs;          (4×1/2 = 02 Gs;spfs;) 

 
(2) gyk;> gytPdq;fis mwpjy; 

tha;g;G> mr;RWj;jy;fis ,dq;fhzy; 
#oy; khw;wq;fSf;Nfw;g cw;gj;jp> tpw;gidfis Nkw;nfhs;s Kbjy; 
#oy; khw;wq;fSf;Nfw;g jpl;lq;fs;> cgha khu;f;fq;fis jPu;khdpj;jy;  

             (4×1/2 = 02 Gs;spfs;) 
 

(3) cw;gj;jp:- Nkir> fhfpjhjpg; nghUl;fs; 

   epu;khzk;:- fl;blk;>  ghyk;               (4×1/2 = 02 Gs;spfs;) 
  

(4) Efu;Nthu; vz;zpf;if 
%yg;nghUl;fis ngWk; trjp 
Copau;fisg; ngWk; trjp 
cl;fl;likg;G trjpfisg; ngWk; trjp 
,lj;jpw;fhd nryT 
Efu;NthUf;F toq;ff; $ba trjp         (4×1/2 = 02 Gs;spfs;) 
 

(5) Vjpu;ghuhj epfo;Tfs; 
nranyhOq;fpd; Njitg;ghL 
re;ijapy; Vw;gLk; khw;wq;fs; 
kf;fs; #oypYk; tho;f;ifapYk; Vw;gLk; khw;wq;fs; 
kdg;ghq;F NtWgLjy;  
mwpit ikakhff; nfhz;l vz;zf;fU              (4×1/2 = 02 Gs;spfs;) 
 

tpdh ,y 05  

(1) epiwNtw;Wr; RUf;fk;   epu;thfj; jpl;lk; 
re;ijg;gLj;jy; jpl;lk;   epjpj;jpl;lk; 
cw;gj;jpj; jpl;lk;  
           (Ie;J tplaq;fs; Fwpg;gpl 02 Gs;spfs;> %d;Wf;F 01 Gs;sp) 

(2) .cw;gj;jp   tpiy  
,lk;   Nkk;gLj;jy;                   (4×1/2 = 02 Gs;spfs;) 
 

(3) cs;sPL;        khw;wy; nraw;ghL        ntspaPL     ½ 
     ½                                    ½                                    ½            (nghUj;jkhd tpilf;F) 
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(4) epu;thf uPjpahd gjtpfSk;> fUkq;fSk; 
Copau; rk;gsKk; $ypAk; 
Vida epu;thfr; nryTfs; 
epu;thf epiyahd nrhj;Jf;fs;                (4×1/2 = 02 Gs;spfs;) 
 

(5) nghJ Nehf;fnkhd;wpUj;jy; 
tiuaWf;fg;gl;l tsg;ghtid 
nghUshjhu eltbf;ifapy; <Lgly; 
egu;fs; FOthf xd;wpizj;jpUj;jy; 
$l;Lj;njhlu;G fhzg;gLjy;           (2×1 = 02 Gs;spfs;) 
 

tpdh ,y 06  
(1) tzpff;fUj;Jf;fis tpsf;f 

topfhl;Ltjw;F 
tzpfr; #oy; gw;wpa mwptpidg;ngw 
vjpu;fhy epiyikiaf; fhl;Ltjw;F 
re;ij gw;wpa rpwe;j kjpg;gPl;bidg; ngw;Wf;nfhs;s 
Njitahd tsq;fis ,dq;fz;L nfhs;s 
tzpfj;jpd; ntw;wpia mwpe;J nfhs;s 
tzpfk; gw;wpa nghJthd tpsf;fj;ij ngw;Wf;nfhs;s             (4×1/2 = 02 Gs;spfs;) 
 

(2)  
a) re;ijg;gLj;jy; jpl;lk; 
b) cw;gj;jpj; jpl;lk; 
c) epiwNtw;Wr; RUf;fk; 
d) epu;thfj;jpl;lk;            (4×1/2 = 02 Gs;spfs;) 

       
(3) mD$yq;fs; 

 Fiwe;j %yjdj;Jld; Muk;gpj;jy; 
 FLk;g mq;fj;jtu; gq;F ngw KbAk; 
 tzpfj;ij Muk;gpg;gJ ,yF 
 Rje;jpukhd jPu;khdk; vLf;f Kbjy; 
 rfy ,yhgq;fSk; cupikahsUf;FupaJ 
 rl;lf; fl;Lg;ghL FiwT 
 ,ufrpak; ghJfhf;fg;gLk;          (4×1/2 = 02 Gs;spfs;) 

 
(4) 1890 Mk; Mz;L gq;Filikf; fl;lisr;rl;lk;        (02 Gs;spfs;) 
(5) epjpj;jpl;lj;jpd; ed;ikfs; 

 tzpfj;jpw;Fj; Njitahd epjpapidj; jPu;khdpj;Jf; nfhs;tjw;F 
 epjpg;gw;whf;Fiwfis ,opTgLj;jpf;nfhs;tjw;F 
 epWtdg; ngWNgw;wpid mwpe;Jnfhs;s 
 ngWNgW NghJkhdjh vd;gij kjpg;gpLtjw;F       (4×1/2 = 02 Gs;spfs;) 
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tpdh ,y 07 

i.  
Nkfyh tzpfj;jpd; cw;gj;jpj; jpl;lk; 

 

         (04 Gs;spfs;) 
ii. myFf;fhd nkhj;jf; fpuak;  

nkhj;jf; fpuak; = 620000 (02 Gs;spfs;)  
   myFfspd; vz;zpf;if     200 
       =  & 3100 (02 Gs;spfs;) 

iii. cw;gj;jpj; jpl;lj;jpd; cs;slf;fk; 
 cw;gj;jpr; nray;Kiw 
 epiyahd cw;gj;jpr; nrhj;J 
 cw;gj;jpf; fpuak; 
 myFf;fhd fpuak;      (02 Gs;spfs;) 

       ( nkhj;jk; 10 Gs;spfs;) 
 

 
 

 
 

 

 

 

 

 

 

cUg;gbfs; khjhe;j 
Njit 

myFf;fhd 
nryT (&gh) 

nkhj;jr; 
nryTfs; 

gyiffs; 100 5000       500000 
Mzpfs; 4 fp.fp  500 01       2000 
thu;dp\; ngapd;w; 10 1000  10000 
kpd;rhuk;     5000 
njhopw;rhiy thlif    15000 
jsghlk; jahupf;Fk; Copau; rk;gsk;   01      30000 
epu;thfg; gFjp Copau; rk;gsk;    40000 
,ae;jpug; ngWkhdj;Nja;T    18000 
nkhj;j cw;gj;jpf; fpuak;   02 Gs;sp 6200000 


